Ch 15 Functions of Several Variables

§1_5__1 Graphs and Level Curves
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3152 Limits and Confinuity
Def: The ﬁmcﬁ‘on £ has the lmit L as Plxy) approaches Fla)b)
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Ex.4 The mvupwahre, Ty) ot thacenter of a coke depends
== on the +hickness \/ anel  uometer >< of the cake.
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Match each function (1 — 6) with its graph (A = F) and its contour map (I = VI).

L/ (o y) = sinxy) Closer contour lines means o
2. f(x,y) = sin(x — y) 5+eePer surface.

3.f(xy) =1 -x*)(A-y?)
4. f(x,y) = e*cos(y)
5. f(x,y) = sin(x) — sin(y)
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1 FlxN) = sinlxy) = Flxy) = O
sin (xy) =
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Lookln% we can see that inside e cicele whare 1x/< 1 and
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X >\/ => X =y O = zZ=20 olways
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